Homework #4 solution
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7 Note that actual injectors are not sized for .
. continuous injection at max rpm and full load. Itis
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at about 1 to 2 ms or so.

mo= (o "}.—-r L E
(&) A Yoibbrtwm T fd g gy ad” AT o, prddic e
0= )rf‘-.ﬂ. M, M, : ._.x_’,fi.

Asbiinad
pd Moz (o3[, ¢ kM, :_:é

(0) Th bigpme  pot podde acoum wipkine v
Mj Xy + )M, '

Mo g o Ul 3 o)y = Xt (kDX 4 LIK) Mo
M, -

‘4\ 2 (,..k;'x_h + Cl'l‘)’)i.h f ":j '*_7“'*):'#40
\————"""\:f . . . -
A s gimituc gunia T

) el MR
= - ~

A} ]

Mo of o - < 5 ws Fal ddivitd
o %k e « ¥ ‘Hl-f(h'q. +h M 1(}-'1.-, 'x},
™, . ’nﬂn HENY 20 “IY"M"‘}"MIf i
]f-:-';-HL- ”..;,kfxf.'*"*"_]cr—a)m -~y

e o2 (- (ke %y = dwiow Mo

W



Wai Cheng
Typewritten Text

Wai Cheng
Typewritten Text
Note that actual injectors are not sized for continuous injection at max rpm and full load.  It is sized for delivery of enough fuel at cold start cranking.  So the maximum delivery rate is much higher.  The pulse width at idle is then much lower, at about 1 to 2 ms or so.
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